2034 NANUKU SANGAM SCHOOL
SOLUTION
WORKSHEET 3 -2021

Subject: Mathematics Year: 4 Name:

Strand: Numbers.

Sub Strand: Operations.

Strand Outcome: Division of 2 to 4 digit numbers by 10s.

LESSON NOTES

Example:

20+10=2 50+10=5

120 +10=12 150 +10 =15

1200 +10 =120 1500 + 10 =150

Activity

1. A.70+10=_7 B.60+10=_6

170+10=__ 17 160+10=_16
270+10=_ 27 260 +10=_ 26
3700 +10=__370___ 3600 +~ 10 =__ 360

2. Avillage loaded a total of 140 logs in ten trucks. How many logs did
each truck loaded to deliver to the timber yard?

140+10=14

3. Mrs. Brown sold 10 dozen of egg last Saturday. How many eggs did she
sell altogether? (note: 1 dozen is equal to 12 items)

10x 12 =120 eggs
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